

MORE ON SOME NEW FRACTIONAL INTEGRAL INEQUALITIES

BANYAT SROYSANG

ABSTRACT. In 2011, W. T. Sulaiman presented new integral inequalities of the type Riemann-Liouville. In this paper, we present some generalizations of the integral inequalities.

1. INTRODUCTION

For any integrable functions f and g in $[0, 1]$, Chebyshev [1] proved, in 1882, that if f and g are simultaneously increasing or decreasing for same values of x in $[0, 1]$, then

$$\int_0^1 f(x)g(x)dx \geq \int_0^1 f(x)dx \int_0^1 g(x)dx$$

For any $\alpha > 0$, the Riemann-Liouville fractional integral operator $I^\alpha f$ is defined by

$$I^\alpha f(t) = \frac{1}{\Gamma(\alpha)} \int_0^t (t-x)^{\alpha-1} f(x)dx,$$

for all $t > 0$.

In 2009, Belarbi and Dahmani [2] proved that for each $\alpha, \beta > 0$, if f and g are functions such that

$$(f(x) - f(y))(g(x) - g(y)) \geq 0 \quad (1.1)$$

for all $x, y > 0$, then

$$\frac{t^\beta I^\alpha(fg)(t)}{\Gamma(\beta+1)} + \frac{t^\alpha I^\beta(fg)(t)}{\Gamma(\alpha+1)} \geq I^\beta f(t)I^\alpha(g)(t) + I^\alpha f(t)I^\beta(g)(t) \quad (1.2)$$

for all $t > 0$.

In 2011, Sulaiman [3] proved that for each $\alpha, \beta > 0$, if f and g are functions satisfying the inequality (1.1) and if $h \geq 0$, then

$$\frac{t^\beta I^\alpha(fgh)(t)}{\Gamma(\beta+1)} + \frac{t^\alpha I^\beta(fgh)(t)}{\Gamma(\alpha+1)} \geq I^\beta f(t)I^\alpha(gh)(t) + I^\alpha f(t)I^\beta(gh)(t) \quad (1.3)$$

for all $t > 0$. This is a generalization of the inequality (1.2).

2000 *Mathematics Subject Classification.* 26D15.

Key words and phrases. Fractional integral inequality.

©2013 Ilirias Publications, Prishtinë, Kosovë.

Submitted October 8, 2013. Published January 7, 2014.

Moreover, Sulaiman [3] also proved that for each $\alpha, \beta > 0$, if f, g, h are functions such that

$$(f(x) - f(y))(g(x) - g(y))(h(x) - h(y)) \geq 0$$

for all $x, y > 0$, then

$$\frac{t^\beta I^\alpha(fgh)(t)}{\Gamma(\beta + 1)} - \frac{t^\alpha I^\beta(fgh)(t)}{\Gamma(\alpha + 1)} \geq I^\beta f(t)I^\alpha(gh)(t) - I^\alpha f(t)I^\beta(gh)(t) \quad (1.4)$$

for all $t > 0$.

In this paper, we generalize of the integral inequalities (1.2), (1.3) and (1.4).

2. RESULTS

Theorem 2.1. *Let $\alpha, \beta > 0$ and let f_1, f_2, \dots, f_n be functions such that*

$$\prod_{i=1}^n (f_i(x) - f_i(y)) \geq 0$$

for all $x, y > 0$, then

$$\begin{aligned} & \frac{t^\beta}{\Gamma(\beta + 1)} I^\alpha \left(\prod_{i=1}^n f_i \right) (t) + (-1)^n \frac{t^\alpha}{\Gamma(\alpha + 1)} I^\beta \left(\prod_{i=1}^n f_i \right) (t) \\ & \geq \sum_{\Omega \subseteq \{1, 2, \dots, n\}, 0 < \#\Omega < n} (-1)^{1+\#\Omega} \left(I^\beta \left(\prod_{i \in \Omega} f_i \right) (t) \right) \left(I^\alpha \left(\prod_{i \notin \Omega} f_i \right) (t) \right) \end{aligned} \quad (2.1)$$

for all $t > 0$.

Proof. By the assumption, we have

$$\int_0^t \int_0^t (t-x)^{\alpha-1} (t-y)^{\beta-1} \prod_{i=1}^n (f_i(x) - f_i(y)) dx dy \geq 0$$

for all $t > 0$.

We note that $\Gamma(\lambda)I^\lambda(1) = \int_0^t (t-z)^{\lambda-1} dz = \frac{t^\lambda}{\lambda} = \frac{t^\lambda \Gamma(\lambda)}{\Gamma(\lambda+1)}$ for all $\lambda, t > 0$. For any $t > 0$, we have

$$\begin{aligned} & \int_0^t (t-x)^{\alpha-1} \prod_{i=1}^n f_i(x) dx \int_0^t (t-y)^{\beta-1} dy \\ & + (-1)^n \int_0^t (t-y)^{\beta-1} \prod_{i=1}^n f_i(y) dy \int_0^t (t-x)^{\alpha-1} dx \\ & \geq - \int_0^t \int_0^t (t-x)^{\alpha-1} (t-y)^{\beta-1} \sum_{\{z_1, z_2, \dots, z_n\} = \{x, y\}} (-1)^{\#\{i|z_i=y\}} \left(\prod_{i=1}^n f_i(z_i) \right) dx dy, \end{aligned}$$

so

$$\begin{aligned} & \left(\Gamma(\alpha) I^\alpha \left(\prod_{i=1}^n f_i \right) (t) \right) \frac{t^\beta \Gamma(\beta)}{\Gamma(\beta+1)} + (-1)^n \left(\Gamma(\beta) I^\beta \left(\prod_{i=1}^n f_i \right) (t) \right) \frac{t^\alpha \Gamma(\alpha)}{\Gamma(\alpha+1)} \\ & \geq - \int_0^t \int_0^t (t-x)^{\alpha-1} (t-y)^{\beta-1} \sum_{\{z_1, z_2, \dots, z_n\} = \{x, y\}} (-1)^{\#\{i|z_i=y\}} \left(\prod_{i=1}^n f_i(z_i) \right) dx dy, \end{aligned}$$

so

$$\begin{aligned} & \frac{t^\beta \Gamma(\alpha) \Gamma(\beta)}{\Gamma(\beta+1)} I^\alpha \left(\prod_{i=1}^n f_i \right) (t) + (-1)^n \frac{t^\alpha \Gamma(\beta) \Gamma(\alpha)}{\Gamma(\alpha+1)} I^\beta \left(\prod_{i=1}^n f_i \right) (t) \\ & \geq - \int_0^t \int_0^t (t-x)^{\alpha-1} (t-y)^{\beta-1} \sum_{\{z_1, z_2, \dots, z_n\} = \{x, y\}} (-1)^{\#\{i|z_i=y\}} \left(\prod_{i=1}^n f_i(z_i) \right) dx dy \\ & = - \sum_{\Omega \subseteq \{1, 2, \dots, n\}, 0 < \#\Omega < n} (-1)^{\#\Omega} \left(\Gamma(\beta) I^\beta \left(\prod_{i \in \Omega} f_i \right) (t) \right) \left(\Gamma(\alpha) I^\alpha \left(\prod_{i \notin \Omega} f_i \right) (t) \right), \end{aligned}$$

so

$$\begin{aligned} & \frac{t^\beta}{\Gamma(\beta+1)} I^\alpha \left(\prod_{i=1}^n f_i \right) (t) + (-1)^n \frac{t^\alpha}{\Gamma(\alpha+1)} I^\beta \left(\prod_{i=1}^n f_i \right) (t) \\ & \geq - \sum_{\Omega \subseteq \{1, 2, \dots, n\}, 0 < \#\Omega < n} (-1)^{\#\Omega} \left(I^\beta \left(\prod_{i \in \Omega} f_i \right) (t) \right) \left(I^\alpha \left(\prod_{i \notin \Omega} f_i \right) (t) \right). \end{aligned}$$

This implies the inequality (2.1). \square

We note on Theorem 2.1 that (i) if $n = 2$ then we obtain the inequality (1.2), and (ii) if $n = 3$ then we obtain the inequality (1.4).

Theorem 2.2. *Let $\alpha, \beta > 0$, $f_0 \geq 0$, and let f_1, f_2, \dots, f_n be functions such that*

$$\prod_{i=1}^n (f_i(x) - f_i(y)) \geq 0$$

for all $x, y > 0$, then

$$\begin{aligned} & \frac{t^\beta}{\Gamma(\beta+1)} I^\alpha \left(\prod_{i=0}^n f_i \right) (t) + (-1)^n \frac{t^\alpha}{\Gamma(\alpha+1)} I^\beta \left(\prod_{i=0}^n f_i \right) (t) \\ & \geq \sum_{\Omega \subseteq \{0, 1, \dots, n\}, 0 < \#\Omega < n+1} (-1)^{1+\#\Omega-\{0\}} \left(I^\beta \left(\prod_{i \in \Omega} f_i \right) (t) \right) \left(I^\alpha \left(\prod_{i \notin \Omega} f_i \right) (t) \right) \end{aligned} \quad (2.2)$$

for all $t > 0$.

Proof. By the assumption, we have

$$\int_0^t \int_0^t (t-x)^{\alpha-1} (t-y)^{\beta-1} (f_0(x) + f_0(y)) \prod_{i=1}^n (f_i(x) - f_i(y)) dx dy \geq 0$$

for all $t > 0$.

Similar to the proof of Theorem 2.1, we have, for any $t > 0$,

$$\begin{aligned} & \int_0^t (t-x)^{\alpha-1} \prod_{i=0}^n f_i(x) dx \int_0^t (t-y)^{\beta-1} dy \\ & + (-1)^n \int_0^t (t-y)^{\beta-1} \prod_{i=0}^n f_i(y) dy \int_0^t (t-x)^{\alpha-1} dx \\ & \geq - \int_0^t \int_0^t (t-x)^{\alpha-1} (t-y)^{\beta-1} \sum_{\{z_0, \dots, z_n\} = \{x, y\}} (-1)^{\#\{i>0|z_i=y\}} \left(\prod_{i=0}^n f_i(z_i) \right) dx dy, \end{aligned}$$

so

$$\begin{aligned} & \frac{t^\beta \Gamma(\alpha) \Gamma(\beta)}{\Gamma(\beta+1)} I^\alpha \left(\prod_{i=0}^n f_i \right) (t) + (-1)^n \frac{t^\alpha \Gamma(\beta) \Gamma(\alpha)}{\Gamma(\alpha+1)} I^\beta \left(\prod_{i=0}^n f_i \right) (t) \\ & \geq - \sum_{\Omega \subseteq \{0, \dots, n\}, 0 < \#\Omega < n+1} (-1)^{\#(\Omega - \{0\})} \left(\Gamma(\beta) I^\beta \left(\prod_{i \in \Omega} f_i \right) (t) \right) \\ & \quad \times \left(\Gamma(\alpha) I^\alpha \left(\prod_{i \notin \Omega} f_i \right) (t) \right). \end{aligned}$$

This implies the inequality (2.2). □

We note on Theorem 2.2 that if $n = 2$ then we obtain the inequality (1.3).

Acknowledgments. The authors would like to thank the anonymous referee for his/her comments that helped us improve this article.

REFERENCES

- [1] S. Belarbi and Z. Dahmani, *On some new fractional integral inequalities*, J. Inequal. Pure Appl. Math. **10** (2009) article 86, 5 pp.
- [2] P. L. Chebyshev, *Sur les expressions approximatives des integrals definies par lesautres prises entre les memes limites*, Proc. Math. Soc. Charkov. **2** (1882) 93–98.
- [3] W. T. Sulaiman, *Some new fractional integral inequalities*, J. Math. Anal. **2** (2011) 23–28.

BANYAT SROYSANG

DEPARTMENT OF MATHEMATICS AND STATISTICS, FACULTY OF SCIENCE AND TECHNOLOGY,
THAMMASAT UNIVERSITY, PATHUMTHANI 12121 THAILAND

E-mail address: `banyat@mathstat.sci.tu.ac.th`